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benzene nitric acid nifrobenzene

22.4 grams of benzene are reacted with excess nitric acid. If 31.6 grams of nitrobenzene are
collected from the reaction, what is the percent yield?

To find the percent yield, we need to know both the THEORETICAL and ACTUAL vyields of

nifrobenzene. From the experiment, we already know the ACTUAL YIELD (31.6 g). We must
CALCULATE the theoretical yield!
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25.0 mL of acetic acid solution requires 37.3 mL of 0.150 M sodium hydroxide

for complete reaction. The equation for this reaction is:
A/O\.Ol/l <+ H(,'LH 2 OZ_ —> NO\. C’LH& O'z_ + HZO

What is the molar concentration of the acetic acid?
L mol RCaHz0,

L. Selutivn {—— - 15.0mbL g O,01LS50 -
Since we know the volume of solutfion, we just need to calculate MOLES of acid.

O N850 mol NuOH =L mol MaDH = mol H{y H30q,
onits: 32, 3mL = 0.0373L.
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Shortcut: Use millimoles!
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propylene acrylonitrile
Calculate how many grams of acrylonitrile could be obtained from 651 kg of propylene, assuming
there is excess NO present., (6S | 060 3%

1 - Convert mass propylene to moles using formula weight of propylene.
2 - Convert moles propylene to moles acrylonitrile using chemical equation
3 - Convert moles acrylonitrile to mass using formula weight of acrylonitrile
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How many mL of 0.250M potassium permangenate are needed to react with 3.36 g of iron(ll) sulfate?

1 - Change the mass of iron(ll) sulfate to moles using formula weight of iron(ll) sulfate
2 - Change the moles of iron(ll) sulfate to moles potassium permangenate using chemical

equation
3 - Change moles of potassium permangenate to volume using concentration (0.250 mol/L)
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